Foundations of Algebra Day 3: Adding & Subtracting Polynomials Notes

Day 3 —Adding/Subtracting Polynomials

Qhen adding, use the following steps to add polynomials:

e Line up like terms
e Add

o Make sure final answer is in standard form
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I Application: Find an expression that represents the perimeter of the house.
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What does it mean to find the perimeter of an object?
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Foundations of Algebra Day 5: Adding & Subtracting Polynomials Notes

Subtracting Polynomials

Subtracting polynomials is similar to adding polynomials except we have to take care of the minus
sign first. Subtracting polynomials require the following steps:

e Change the subtraction sign to addition and distribute the negative sign to every term in the
2nd polynomial.

e Line up like terms

e Add (Make sure final answer is in standard form)

Q. (732 =2+ 1) = (B + 4x~7) b. (3x2+ 5x) - (4x2+ 7x~ 1)
(1= 20+1) + (3x2- Ax+7) @@:,
'Ix:'—- ox+ | 3X £5x % 0

+ 3X7- 4x -4 x1

Tiox>-lLx*8) —y*-2%x+1

C. (53 -4x +8) — (-2 + 3x) : d.(3-5x+3x?) — (-x+2x2-4)
(6x°- 4x+8) + (1-3x) (325%43x%)+ (y- 24> + 4)
5x3-4x+8 , 3X =5x+3

+ 0:a,3_$,:_2_-_ —)_x +|x+4
PX-Tx+lo IX*-4x +1
e. (Bxy + X3 - 6) — (-10xy + 7 — 2X3+ 5¢2) F.(-7%2 + 8x— 4) — (2 - 14%2)
(Bxy+x*=U) ¥ (103414252 5¢2) (-Tx*+Bx-4) ¢ (-2+14x3)

Application: It costs Margo a processing fee of $3 to rent a storage unit, plus $17 per month to keep her
belongings in the unit. Her friend Carissa wants to store a box of her belongings in Margo's storage unit and tells
her that she will pay Margo $1 towards the processing fee and $3 for every mon J\ that she keeps the box in
storage.

a. Write an expression in standard form that represents how much Morgo will pay if Carissa
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b. Determine how much Margo will pay if she uses the storage unit for 6 months.
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